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Reg. No.

KANNADA (BASIC)

(Regular)
A&, 0TI - 3

Time : 3 Hours

Instructions to Candidates:

b)

7% T WTE BT MRS ERBAMBT.

SBROTITIE0D WEIINTS, 8208 03,3038 S0 AR O L0INFI) TS WIWD.

(Clopp)

ITI Semester B.Com. Degree Examination, Nov./Dec. - 2019-2020

Maximum Marks : 80

(15)

“3&03 208 0HYF TN T LR 00 T, WRAS FTT’ — WBFAD
“23.5) cRERnun HEPSE B FEPIT BRRFE 38 WIS - ‘F0ss’

FeDTBTYHOA OAD.

(=)
WIS OYRT PF T 33, 30020 WSCWD.

3. 350 meﬁ éSa):Jeé 20380200.

a)
b)
c)
d)
€)
f)

2,08

TN SO BORON FRSODOT e ORI
WATTIB [BOT

) WD TOWITIL

BOTOT) TIOWDEIT SRRV T, BIETTS
5030 TN WRED'

4. Bemd mcg AOTPFBRBES FAETORD.

a)
b)
c)
d)
e)

Nees® WST* DR[EINT® JoBANE T
30TMD MOTOAT WOTD E0B0T)0ED
STTRDO &8 D 03T VD bRIeS
3, B&oKodde I3, I8!

SN, NI BSPNTIY, T &en sd&ém@%@aq;

(15)

(4x5=20)

(3x5=15)

P.T.O.
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5. wodde 9839 evzgord. (15x1=15)

a) FITIRIRNF T, 30D T OIRFT ? |

b) IIBXE I,PR FFODE, CIRTD ?

c) AT ESTEIND oIS e;odéafégq TBIRRORES ?

d) ‘B.D.2. &I0 DB o[ ?

€) CdRT I Sud BYTomd = IR ?

f) @o. 3e0030 9L £TT BT .25 8. BWOTT BHTED 2
g orn 3 RN S5I[I, IR 3T 0FURR0E SORZRYTING 2
h)y ‘DD esgp’ ﬁm o3RTO dzsz:aaod ?

i) AGEI0 A0 BBD 2O BILTWD ?

i) ‘C00ns’ cdnd o meR ?

k) A0 Bemy wSEE0 odRdd 2

) @R 05 .STA0TOD, BT S5 -220200D BITERD 2

m) T2 Tokd’ 0TTE> ?

APIRTARSF €230 G FOBICD ROFFEIS 2
53,38 3302 T0W” Q0T PTDAT ToFIO BATERD 9
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Reg. No.

III Semester B.Com./B.B.A. Degree Examination, Nov./Dec. - 2019

HINDI BASIC (REGULAR)
fm darl & W (ARw) AR HAR

Time : 3 Hours Maximum Marks : 80

?. feff o wwl & Iw fafRew | 10 x 1 = 10

R

ITE B UHE E U ®HE g O?

() v (F) @0 (F) TEN

s & Uit A E

(1) Ea (@) T6@ () i@

‘B daRl % W ARe® & ACHGR & g ?
() WE TR (F) T WSl (F) WG
WE & ae ifvd 3 el viW Rl @l 9 Yol ?
() Tmu. (3) Sftu. (F) A&

Hfeen foemem 6t fiftmes ® @ ? 2

(1) H (=) dew (%) W

v T wE g ?

(31) S () e (W) wwEh

‘aodt’ fereht @ § ?

() @if@ (@) F&a (%) GO

T daml % W ARew # R 3w 7

() = (F) IR (F) @

[P.T.O.
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Q. I 3R wEa | o fgar o 2
() 2=t 1 (@) W w(F) - W=
%0. AT gl d% UelerEr 2 ?
(1) stu. () AU (=) a‘tmh.»
9. WiwW K TG A g ?
(1) Sisht (@) H (F) FEa
2. it v | Tren @ =t § 7
(3) 3@ 9@ (9) &\ we (%) dW A
?3. Wi W R e RBeEer 3 oam ¥ o2
() ™ | (F) EH F (F) g W=
9¥. TEA 3N W W A Hog w1 g ?
(1) St () I (%) @t

. &8 @ f woen =wrem ffdm | - Z2%x5=10
3. “HgR ™ W FEw 7 e 17 |
2. “IU wUS & G, 99 W% @ Hal, d iR s wmE Fr ¢
3. “weft of wemed @ o TR f =ik & 2 o2 '
¥. “uwh o=t @ wifkw @ gu e wen W |

L. 8 @ vl & 3w ffeg | 2 x 15 = 30
g. W W aiE-fewr Kk |
. o dER % W AES @ wUEE I vee 0 fefan
3. “Tew 4 Tbm T w afEr ST @ Q@ aue f auen oWy SR |
¥. Aew & adl & R W T fEmt & W H witan Hiftw 2
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IV fFd i w Ruwit fafee 3 x5 =15
2. afm
. wEd
3. Hm
¥, el

w., AEE F I

vV & 4 sgag fifm ) 1 x15=15

Many of our graduates face up the unemployment problem. It is true that all

- are not able to get the higher education. Some selfish people coin the money only

and forget the country. But let us tell them, the country is not for us, we are for the
country.

D) 2.')656?&’% BEIHTTO WTOTR,EN AR, 0BT QEORTT. QT WUPB ST/,
RSO0 exwarmha%dagi@da TR :sa’?smmﬁ. FOw) aplaly IO FEWO TED
RoMBROTT WY BeII), TS, BT Tedy IRoreN ©Q, T IeFTN”
QOTD Do) LWON BeFLER.
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IIT Semester B.Com.3 Degree Examination, Nov./Dec. - 2019
ECONOMICS
Industrial Economics
(Regular)
Time : 3 Hours Maximum Marks : 80

Instructions to Candidates:

1) All sections are compulsory.
WY, I T 0RONES.

2) All sub questions should be solved continuously at one place.
DGR, YVT &, N 2.003¢ FFBY, BTN SUZOR0.

3) Simple calculator is permitted.
A0 52, 0 GeLTNTI), WIRWBITD.

SECTION - A
PR - &

1. Answer any TEN of the following ques}ions in 2-3 sentences each. (10x2=20)
CIRPYTTAR BR) IInen 2-3 TN, v80a0.

a)

b)

c)

d)

What is Industrial Economics ?

gm0 STEIF, 0TS ?

What is liberalisation ?

YVTROCTTED QOTTERD ?

What do you mean by PPP‘ model ?
S0ORN-FTFI0 ABLPNG, [WRTO H0TTEId ?
What is industrial policy ?

30T e DOTTERD ?

What do you mean by e-business ?

E-aﬁamd ROV ?

[P.T.O.
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f)  What do you mean by IT Revolution ?
SRk F03,ZHT §3,08 0TI ? '
g) What do you mean by pure materials ?
3T TIDERYT BT o303, RRONSOTTED ?
h)  Which is the apex institution in the field of industrial finance ?
ZMO0T TEITRT G, 2,080 ORI ?
i) State any two functions of SIDBI ?
SIDBI 3,083 03R®R)TonEte 0@ FoOIF NTR), BRORD.
j) What is joint venture ?
g Mo0%0 ABRCTED 0BT ?

k) Who was the finance minister when the policy of LPG introduced in
India ?

LPG Qescddm), LRTSTY, tRONRRYATN LOTST BEITRAT 08, CIROTTO ?
1)  Who is the industrial minister in India ?
PUST 0T 008, IR ?
SECTION - B
PR - W
Answer any THREE of the following questions. (3x5=15)
CIRYTRETR WP JFner wuZdAD.

2. Explain the growth and challenges of public sector in India.
YOTBTE FORFWAT ROONT WIBEIR 300 ADILONIS), DBORD.

3. Explain the Industrial policy resolution of 1956.
1956 T gm0z QeSodT) DWORD.
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What are the sources of industrial finance ?
ZMR0% BETOAT BAROTED O3RR)R) ?

What are the factors influencing industrial location ?
81005 AFT e B yiow WeTEI 03N IRy 9

Write a note on functioning and performance of state finance corporations.

093, HESTIAD xo:\jamf FIONF TR FFING OB BT WBOWD.

SECTION - C
N - 7
Answer any TWO of the following questions. (2x15=30)
YRS cdRTETER HTRD TINIR V302D.

What do you mean by liberalisation, privatisation and globalisation ? Explain the
impact of LPG on Indian industries.

~ UII0BTD, WRINTTLY WY PSS WOTTeDH 9 102 ZMROENS e ey

0

e‘d@mﬁ)m"@t WSORD.

Critically examine the industrial policy resolution of 1991,
199138 gmoos QeS0T VIToF TN DTOXD.

Explain Alfred Weber's theory of industrial location.
BOPE P o B, Mo0% APETTET ATIOSTI), DV[ORD.

Explain the functions and performance of (IDBI) Industrial Development Bank of
India.

tApTe I {ove) %mb& @a,sq)aé mﬁoéw FOOF N DY) mda”ojaxig‘ WWOR0.

[PTO.
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11.

SECTION - D
NN - &
Case Study (Compulsory question): (1x15=15)
(3m0h 33) |

Information Technology in India is an important industry consisting of two major
componants. IT services and business processing outsourcing. The IT sector has
increased its share to India's GDP from 1.2% in 1999 to 8.1% in 2018. The
export revenue and domestic revenue are continuously increasing. It is the major
sector creating white collar jabs in India. But it is also facing some serious
challenges both domesticaly and internationally.

1) What is Information Technology sector ? (5)
2) Explain the contributions of IT sector to the Indian economy. 5

3) What are the initiatives taken by the Government for the growth of IT sector
in India ? (5)

TRk 203,235 PRUSE 2,070 FB0DFIT YRTOINRNT. [0 [kd B03,2T Aed

TF) B,BHIONT TRCMIST 0L ATE LRNNTI) TR0DT. 1998 T, Femw 1.2% T=d,

2,830, Tedeadd LVBIHI) TeoDT S WY 2018 TY, i Tedecd wIIT 8.1%
dmwooaéo. B FOCDNT TF) Sm0D R ©50308 BWICINTY JTOSToN éaﬁ:ﬁgd. BS00
B BOODY) S0BOTEIN TOB z:raas’zsmh 6T :Jmenrie;s% DTOORET.

1)  [nkd 3038 SOH ST ? (5)
2) PO eBrRTIR Snkd 03I FERANRG wif DORO. (5)

3) RUEE Bnkd 03RS IODT BRH 0N 0T FRe0E §ONd iRz 2(5)
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Reg. No. [ 4 [R [# 203 % |3.
III Semester B.Com. Degree Examination Nov./Dec. - 2019
BANKING LAW AND PRACTICE
(Fresh and Repeaters New Syllabus)
paper : Compulsory

Time : 3 Hours Maximum Marks : 80
Instructions to Candidates:

1) Answer all the sections according to internal choice.
©0B0F SONTIRTTED, TR WONNET LVZOAD.

2) Question No. 11 (case study) is compulsory.
%3 7033, 11 (3060 53, 003) T, 00N,

SECTION - A
wnyen - &
- 1.  Answer any Ten of the following. (10%2=20)

3 IINTPNYY, teson BIYE GUZ020.
a.  Who is a customer of a bank ?
2R,08T 119, TBIIOTT 03T ?
b.  Who is a bailee ?
QB e DOBT 03RT ? ,
c. ~ What do you mean by material alteration of a cheque ?
BT TR (BB F) WEOSE DOTTED ?
d.  What do you mean by scheduled banks ?
3@, &, w3, 0RNTOTTEd ?
e.  Write the primary functions of a commercial banks.

SIEST 233, 0RR0TIT TR, FeT T MTR), 2ToWD.

[P.T.O.
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SECTION - C
QNgFn - ¥
Answer any Two of the following. (2x15=30)

31 INTJNLE). ez WOBE CUZOR0.
Define the terms 'Bank' and 'Banker'. Explain the modern services rendered by
commercial banks.

2,087 R %33, 05C°" 52471«#3,, 99,309, C00RD. S0ty 2R, 0%0ND VERT STONT
Nedmfm E)CSONG ;

Briefly expldin the common steps followed in opening of a bank account, Wnte the
features of current A/c savmgs Ale and Fixed Deposit A/c.

20T 239,05 suaécxbz&) T2, 0ORRL) SIINOTOR mm oﬁmﬂm ~o&wmn K020,
Pl oJaé NeZOD amé‘ O] efm S dew) asa:a‘ﬁe; uusa: ﬁ#ab udoibo

Distinguish between traditional banking and e-bankmg Brietly dlSCUSS four facets
(forms) of e-banking. Write any five e-payment servnces

ROOT, TOOWT e, oson® WY Q- 232, 0807V md e N -arsn‘@z& W00, B- 239, 080T T3
SplSt] dra“'ﬁe:aa ~o&wmﬂ m&mo oma@mcsdra mm ‘3-7?533 Nde}?\b wﬁo:’oo

Explain banker's obligation to honour his customer's cheque. Discuss the conditions
to honour cheques.

B, T, ?3:':"'1@53& NPCRRORT 39, 030°3 wmmbﬁmm ci)az’)bfo@ 236‘3?’:0 NOTRRED

R2lotin] »163.,71@?53 mﬁr,oo

[P.T.O.
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SECTION - D
RWn - =B
Case Study (Compulsory question): X (1x15=15)

35,3060 95 0PI 1 @D &3
= 2 Yoy 2R

As a banker, how do you act in the following cases-

a)

b)

c)

d)

A fixed deposit of Rs. 5 lakh for a period of 2 years presented for withdrawal

just after 1 year by the customer.

A cheque dated 1% October, 2018 is presented for payment on 2nd November,
2018. '

The pen used (colour of ink) for crossing and writing other parts of a cheque
is different.

An undated cheque is presented for payment at counter.

A crossed cheque is presented at counter and customer demands payment at
counter. Explain options.

TITPY), W, 03T°TN, B2 FENS JRONNSY, Tert @SFR0ZeD 2
dR. 5 ©F HRSE AT SRFNY BOTT ey 0deHODT), F¢BO 1 BRF 39S S0
LOTEODLD 2390871 AQZTNG.

13¢ @i@deuo*’, 2018 @Oesbmq TROOT zsasmq DT007 2 ¢ sa"goouc‘, 2018
DOT0 TSR0 mzsoaﬁ :)‘Q’z:‘saﬁd.

20T zéz%ﬁ TeDeariePRLD :B) VT DALY WBoED WHT T’ (T280D2ER)
DI, @ONT.

DT0TBI), TRODTT 2OW WFBI), TIWELD TOWT' Y, IYIUONT.

BeDeo[HY BRODT oD B[ PoROTY, I, MTI PorTTIYode
TOTEROTWOZ LIIOWAITII. &8 FOTPFBY, BT S0NNRFY, DWORD.
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, Reg. No.
III Semester B.Com.3 Degree Examination Nov./Dec. - 2019
BUSINESS STATISTICS - 1
(Regular and Fresh 2016-2017 Syllabus)
Paper - 1

Time : 3 Hours Maximum Marks : 80
Instructions to Candidates:

1) Working steps should be mentioned.
VREROW BOSATI), FOCIRN TZWRORD.
2) Simple calculator is allowed.
ROY NEFBOD0E,T GVTOIRENBVR), BRT, IRBLING.

SECTION - A

dpn - &

1.  Answer any ten of the following. (10x2=20)

NS CAPHTTR BL) BINOT GVIORO.

a.

Define Business statistics.

B, WB0T FOTR,TIRZD W, a5, FRRO.

Give an example of qualitative data and quantitative data.
TORIZE TR B TOWXDZT JIQANTT YVTRBHOTH TRRO.
What do you mean by sampling ?

ATTEFOD ROTTED 2

What do you mean by partition values ? Give the formula for P, in
continuous series.

DFowT VSN Q0BT ? IS 306300008 Py BW3 AT, T, WBoWO.

[P.T.O.
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e.  Find range and coefficient of range for the following data.

NS MRS DY BB T, TOEDOIRIY, Tow> &HBEWS.

Cl 10-14 15-19 20-24 25-29 30-34 35-39
WME0ST
f 3 8 15 12 7 1
o4

fo Write down the formula for various relative measures of skewness.

DWIVBOD) DR ADTET, TRINY AR, NTRY WToD.
g What do you mean by sample space ? Give an example.

ADIFT BTT A0TWOCR ? YVEIB0Fs BRE.

1 | ; 7
h.  With usual notations if P(A)=E P(B)=§ and P(AUB)=E find P(4nB)

P(A)=%; P(B)=% O P(AuB)=ll2 [N P(ANB) ), FoBELRBOWD.
i What do you mean by probability mass function ?
ROPS MI0R) HOS 0DTERD ?
s Write any two uses of time series.
03, er0D IFIT DTRD LVTOIRENNTRY, 2B0W0.
k.  Name the stages of Business cycle.
=, WBH08 235,3Q, WIDT BoSNRY FOR0.
. What do you mean by seasonal variation ? Give an example.

IDBVTOT BRCRHODD 0BT ? VEIB0H 2NE.
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SECTION - B
depn - W
Answer any three of the following. (3x5=15)

BENT CINPYTRETR [RD FINON YUSORD.

2.  Explain stratified random sampling method with merits and demerits.

30633 338 ABSFS OGNSRy MESMBNGRAR I[ORD.

3. Given
Coefficient of skewness = 0.4
CcvV = 20%
SD = 30

Find mean and mode.

DBRIIBD TIPB0E =04

RROFR THE08 = 20%
03 BRI DEOI = 30

aman Sloprielinecy) WBROOTNTTY, FOR SROD.

4. Calculate mean deviation from mean for the following data.

FINS TS03NP0T FTEROON0T FTIXO aweéodoa’% FOBRILEOD.

X 10 11 12 13 14 15

f 2 5 10 15 12 6

[P.T.O.
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5. A problem in statistics is given to two students A and B probability of solving it by
A is 3/4 and by B is 1/5. Then what is the probability that the problem is solved ?
RO TIRTEO, 2,00 :sm:s&odo:% A 32D B 200 0> QT,OFNVN IRBORNT. A
9, HFCIN AR, 0T, WHAE FOYWRIEoDE 3/4 amd B o Boydsecd3 1/5 added,
&eNTN "N’a'bziasodazg WRAID AOLBICOS 2D, ?

6. Calculate 3 yearly moving averages for the following data.
FINT DS0ZNYOT 3 BaeFCD BOT ATIAONTRY TOBO &EOWD.
Year 2002 | 2003 | 2004 | 2005| 2006 | 2007 | 2008 | 2009| 2010

—_
RE

Import
(Lakh of tonnes) 85 84 | 47 21 46 SONRRYS: | - 97 |83

ES3TOT
(oﬁ\ u§ﬂ¢@4

SECTION - C
TN - T
Answer any two questions of the following. (2x15=30)
TINT CIRFPYTRBAR HTB JINen wv30R0.

7. a)  What do you mean by diagrammatic representation of data. Write the importance
of diagrams.

Tea0owse, HOTTERD 7 Teanwey,m o, WNNENTIY L.

b)  Construct the Histogram and Frequency Polygon for the following data.
BINT D, AT FOWIRNT, B RS WELLRY, S0, TLRD.

3
Class 20-30 | 30-40 | 40-50 | 50-60| 60-70| 70-80| 80-90
WNE
Frequency 5 12 18 30 20 Wi =7
©R,8 70,

(6+9=15)
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8.

a)

b)

Mention the inference for the following statement.
i)  Coefficient of skewness = 0
ii)) Mean is greater than mode

iii) Mean is less than mode

B3 TENT TeENT S03- Soees DI, VEFFOWROEED 2
1) Q030 nmomeos = 0

ii) =00 WBROVTOS BRBOT

iii) =ooxd ua)@ﬁz‘%os z&s;&d.

Calculate Bowley's coefficient of skewness for the following data.
FINT SAT POCD DFBOZED THEHI0F FORIBWBOWD.

CI 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70 | 70-80
TMRFo3T

f 10 | 40 20 00 100 | 40 16 14
=1

A box contains 6 white, 4 red and 5 black balls. Three balls are drawn at
random from it. What is the probability that the balls drawn are.

i)  All white
ii) 2 red and 1 black

iii) One of each colour ?

2,00 ﬁ%ﬁcﬁaq 6 02, 4 3oy =B 5 %) 2B0RNTS. AYNLOT 0T 230&3371@53%
Eﬁﬁfgmﬂ eﬁoi% RIRETN

1) QR 0P Bordongh
ii) QATB Fo) DB 20T 7,

iii) & 230=> 20w WEmINTIRN FOWmHes 2

[P.T.O.
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10.

(6) AT 000 R

b)  Find mean and variance for the following pmf.
PN RoPS M0w) FOSONOR TTORO YOES) saweﬁodm% FOTOEER0N0D.
X 2 | 0 I = 7
P(x) 0.20 0.05 0.25 0.40 | 0.10 (8+7=15)
a) ~ What is Time series ? Mention the components of time series.
03,669 Q0TTER ? TS, esdoDH PEIBNTEY, DIOLD.
b)  The following data shows the population of India from 1951 to 2011.
FINS TP o0 wIR0ak oY 1951 003 2011 B =R FeBOINS.
Year 1951 | 1961 [ 1971 [1981 [ 1991 | 2001 2011
DR
Population(crores) 36 44 55 68 84 103 121
wIH0, (doees)
a) Fit a straight line trend by least square method and calculate trend values.
b) Draw the graph of trend values against the original values.
c) Estimate the population of India for the year 2021.
a) 5203:'& RNF TEE000T FTY Teazn %338 000R), SHOWAD B8 WAnIRY,
TOTRIHEROND.
b) Swo zjdﬁéﬁ SoM0esTN T @ déﬁﬁ%ﬁ 8es) TeRD.
c) 2021 3 P08 wIR0ad o3 DT, BTODTIY, SO0, (3+12=15)
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10

~ SECTION - D
opon - @
Case Study (Compulsory): (1x15=15)
Too OTRADS  IEOD I3, | '
Following data represent lives of two models of refrigerators. A and B.

3 AR m:o‘de‘) QTR BRTO By, wBee3ct A 2 B o dw%dm TRBERNT.

Llfe(m years) Refrigerators
same.%(dwrrwe;) 8, w3et3nt

Model A Model B

R[NTO A Inwd B
0-2 05 02
2-4 ‘ 16 07
4-6 13 12
6-8 07 20
8-10 : 05 08
10-12 04 01

Now as statistician, you can advise to find about the following.
Qe w1y, FoaRTHTN B FUNS DRABIY Wik BANFEBFS 080,
a)  Which model has greater life span?

TRTO A =D INRe B o) ciRT[ Slevebn i BRNE?
b)  Which model has greater uniformity?

0dRsE =REd DU ﬁgpdé BRODT?
¢)  Which model do you recommend for buying?

03RE BRTO ERYOT BT TRED?
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IIT Semester B.COM. Degree Examination, Nov./Dec. - 2019
COMPUTER APPLICATION IN BUSINESS
PAPER - 11
(Regular And Repeater)

Time : 3 Hours Maximum Marks : 80
Instructions to Candidates:
L. Answer all sections, subject to internal choice.
2i Section D is compulsory.
SECTION-A
Answer any Ten questions, each carries 2 marks: (10%2=20)

1.  Howdo you rename the worksheet?

5

Write the Use of * 3 "option in Ms - Excel.
What is data Sorting?

Write the syntax and example for Min () and Round ( ) function in Ms - Excel.

Write the stéps to Merge cells in Ms - Excel.
Define DDL.
What is relational database System?

What is ‘Form’ in Ms - Access?

P90 SN Oy Ok

Define primary Key give example.

10. Listany four data types in Ms - Access.
11. Who is System analyst?

12. What is Information System?

SECTION-B
Answer any Three questions, each carries 5 marks: (3x5=15)
13. What are steps to enter formula in Ms - Excel? Give example.

14.  Explain the components of chart with neat Labelled diagram.

P.T.O.
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15.
16.
B7.

18.
19.
20.
21

22.

Explain the Relational record based data Model in Database System.
What are Repeorts? Write the steps to generate reports in Ms - Access?
Explain the Desired properties of MIS.

: SECTION-C
Answer any two questions, each carries 15 marks: (2x15=30)
Explain options on page Layout Tab in Ms - Excel.
Explain in detail Database development process.
What is MIS? Explain the advantages and Limitations of MIS.
Write Short Notes: |
a)  Textfunctions
b) Field properties in Ms - Access
¢) Pivottable in Ms - Excel

SECTION-D

Case study (Compulsory) (1x15=15)

Create Employee table in Ms - Access with following fields Emp no, Emp name, Designation,
Department, Data of Joining & gross pay perform following operations.

a) Insert 5 employee details

b) Display the details of Employee whose department is ‘purchase’
c) Display the Employee details whose designation is ‘FDA?

d)  Arrange The records on the Seniority of “date of Joining”

e) Listthe employee whose “gross pay™ is between 25000 to 35000
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Time : 3 Hours

=0:2872
36322/C220

Reg. No.

IIT Semester B.Com. Degree Examination Nov./Dec. - 2019

Principles of Entrepreneurship Development
(Regular)

Instructions to Candidates:

1) Attempt all the questions according to internal choice.

$0B0F SORAYIE), 2R, FJNON LUSOAD.
2) Question No.-11. case study is compulsory.
B - 11 Qyen B 3@ oD.

SECTION - A
NN - 8

1. Answer any Ten of the following.
B3 NS e BR) TINOR GIOR0.

a

Who is an entrepreneur ?

T FOBEOTO DOTWT BRTD ?
Define women entrepreneur.
LD YT TSV w85, VeRO.
What is Innovation ?

TAT,E 0TI ?

What is creativity ?

R I 0BT ?

Who is Intrapreneur ? -

30303 enacszsabéeo NOTT 03RTL ?

Maximum Marks : 80

(10 x 2 = 20)

[PT.O.
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f. What is problem solving ?

AR TOTIT FOBOLBOTNHED 0TTeO 2

Who is first generation entrepreneur ?

B,FD STVROT MBIV 0BT o3RT ?

h.  What do you mean by technical skill ?
F208,F TJY, 0TTERD ?

L What is Franchising ?

0Q

| 332, 0B AOTT DOTTERD ?

i Define small scale Industries.
Ry, TO0BNY w85, Ve@O.

k.  State any two methods of problem solving.
ARF, BOBORD TR BHENIIY $920.

L. Expand : (a) AAW.AKE. (b) CED.OK.
DFDR WT0WD : (a) A.WAKE. (b) CED.OK.

SECTION - B
: PR - W
Answer any Three of the following. B x5=15

8 NS s Dedd JINer: wzdrd.

Distinguish between Entrepreneur and Manager.

YU SO’ B ‘w&‘w@m'dqmw B,ANTTY WIoWD.
Explain the objectives of small scale industries.

RNEg FTODTNY VT EBNIR) DWORD.

Explain the importance of creativity.

R wBSeOZ0D T, BOD,NTY, DBORD.

Explain the barriers to problem solving.

RBOA NI, WRBOROBES, HTOTIMOI EROTONTTY DB|ORD.
Explain the functions of D.I.C.

BeR, §rdd 0BT FODFNYI), DFORD. |
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10.

11,

SECTION - C
NN - F :
Answer any Two of the following. 2 x 15 = 30)

8 TINS5 OB TIROR evZ0R0.

Define Entrepreneur. Explain the qualities of an entrepreneur.

SUT DSOS T, VeRD. VT EOSEVT TOBNYRY DFORD.

Explain the advantages and problems of small scale Industries.

Reg, §ROBNY ERRAOSRD D) ARNUIY OFok0.

What is entrepreneurship ? Explain the problem of developing entrepregt_,cilisbig.
T TSV 0BT ? emwﬁaoéeoé eﬁzpa’bacod) xmx’gﬁvaﬂ% DRORD.

Explain the scope and problems of women entrepreneum.

LT NTTEOTOD TR FBY BWokwd VT, SewT AR NTT), DTORD.

SECTION - D
PN - B
Case Study (Compulsory question): (1 x 15 = 15)

T80 T 00T 1 3D B

Miss. Sarita is a commerce graduate wants to become an entrepreneur. You are
required to explain the following.

a)  List the business opportunities for women.

b)  State the government facilities to women entrepreneurs.

¢)  Problems of women Entrepreneurs.

FO=WNO TOS BT TOEI, acsac;csmm:% eVT, TS ewwDNED wabz)m%eo?. &Y B3

NS xmﬂéﬁ@ﬁ PVZOROH TAROT STWINLIER.
a) WHIODINR AWBITT Cyioveples STTINRY 39RD.
b) & emcssméwbﬂdaas ATTOD @o%ﬁ@dg{ SP20.

c) WD MBTSOT AWIORSTI :sm:szsne;@‘ 8920.
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IIT Semester B.Com. Degree Examination Nov./Dec. - 2019
RETAILMANAGEMENT
(Regular/Repeaters)
Time : 3 Hours Maximum Marks : 80
Instructions to Candidates:
1) Answer all the sections according to internal choice.
©080% GORARYRLD 2R, BJNON Lug0RD.
2) Question No.-11. under section D is compulsory.
B3 - 11 ewn @ 3w o0.
SECTION - A
PR - &
1. Answer any ten of the following. | (10x2=20)

Bewn B I[INOR LSOR0.

a.

What is service retailing ?

A $T0FE 359, TTHOTTED ?

Write any two types of E-Retailing.

DTO,TYS 3TITS 23 T0T TR TFTONTT), WI0WD.
Write any two advantages of organised retailing.
ROFHESB $TITY 09,50 TR @5&@@37@3& WToWD.
Give the meaning of FDI. '

DTS [T WOBTPT LWFF WI0WD.

[P.T.O.
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e,

What is retail pricing ?
3008¢ W3S QoTTe0 2

State any two threats of FDIL.

L

QTS FeT WOTTET CINR)TOETAR NTRED STONTI) TewD.

Give the meaning of psychological pricing.
BR[T B 0BT 230W0.
What is segmentation ?
BRWTE, PHRS F0TTER ?
Define product positioning.
SR MTEO WSBY, AORODFOD 39,85, BRRD.
What is a promotion mix ?
W TT T QRODFOD . A3, £0TTERD ?
What is advertisement ?
39, T0T &, WTHOBTERD ?
Give the meaning of Geographic pricing.
Pornees Wdod ©mr 3R8D.
SECTION - B
R - W

Answer any three of the following.

33 NS wezn [wedd BINOR GUZORD.

What are the challenges of retail sector in India ?

IOSTO, $UBY T,TT HTORT ATLONTIRD) 2

Explain traditional retail formats.

RO, 0T STRS 59,3903 mwaﬁe;mq QBORD.

(3x5=15)
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10.

What are the pros and cons of FDI in Indian retail sector ?
3T0RY W[ TTRY, DTS FeT WOBTVE FT Tone NVREG FRECBRTITY) ?
What are the merits and demerits of E-Retailing ?
DTW,TYD BTOTY 33,0 7L ToMe BRCRNTIDD) ?
What are the objectives of sales prombtion ?
9,390 %%ﬁow m%@éﬁ%ﬁ@ 92

SECTION - C

NN - 7

Answer any two of the following. (2x15=30) .
3650 A0R FINOR YZDAD.
Define retailing and explian its functions.
300B0Y R, TRUT @8 AR WX BT FORFATRY DFORD.

What are organised retail chains ? And explain the factors for the success of
organised retailing in India.

7\10‘;’@&33 OB mamdcs AODEINTIRD) 7 A0ed 3T mdmdd QLA eoﬁﬁ#@t
DWORD.

Explain the factors in determing pricing decisions.
IS IPFORDT DG WoINTIY DF[ORD.
Explain the tools of sales promotion ?

S, TR0 FOAB QG F0ZNTRY WWORD.

[P.T.O.
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11.

SECTION - D
N - &
Case Study (Compulsory question): (1x15=15)
T, 508 BT00T : F@eD B

Food and processing dept of Patanjali Ayurved Ltd. has introduced a new type
of Biscuits named "Nariyal Biscuits" which contains more Fiber and also easy to
digest. R and D dept felt that the product would be accepted by the consumer.
But though many months have passed after its introduction, sales of the "Nariyal
Biscuits" is not increasing up to the expectation.

Being a sales manager.

TS0RE SOINWF T FOBICD ST/0 LVBORB FEBBY, BRZ F3 D00 WYy 83"
TOWOWAPMIET. AT0E 33 0, BN F w?.JC‘ [T, LBEIFTIODFY STEROTING. Noﬁmdm
PuITw) B DAOVIY, MR, BTO mados-’ea"wwoem u%§@939@6 ROTO - LI TR
BREENTMTY, CIRPYTe TPF ATOY; T L) DRTE SHTIOIRN

a)  What type of consumer promotion tools you are going to use ?
39,70 a’btboz‘om B0g, N, ARLRD.
b)  What kind of advertising strategy will help to promote sales ?
0l TFI0B w90 08, @H,F0 DI FT0ITHING ?
e
¢)  Suggest suitable pricing Strategy to improve sales.

39,3390 a’b@q)?dw QR AeF WS 303, NI, ARUWRD.
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IIT Semester B.Com. Degree Examination Nov./Dec. - 2019
Corporate Accounting
(Regular)
Paper - 1

Time : 3 Hours Maximum Marks : 80
Instructions to Candidates:

1) Attempt all questions according to internal choice.
H0Z0F SOLNIOMIEIIN 2L, TI NI, 3020,
2) Use of calculator is allowed.
9, L0 TRT WIHED SRTOERT.
3) Give working note wherever necessary.
T05,58 WonG o Jeews wcdeies.

SECTION - A
PN - &
1. Answer any TEN of the following. (10x2=20)

3INS emon BR) [NV wvZORD.
a.  What do you mean by issue of shares at Premium ?
a’edoﬁ@aig‘ 2,E00NRT TTTQ, VBT (958 553@6) QOTTED ?
b.  Name 2 method of valuation of Good Will.
‘6@3?35305’ e)ﬁd DRBOW A0 amﬁﬁe\i;’% 8920.
c.  What is liquidation of company ?
TOTAOR DTWES DOTTERD ?
d.  Name two types of liquidation of company.

TOTAOD DRWEIOD AT @@Uﬁ@ﬁ% WTOAD.

[P.T.O.
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e.  What is divisible profit ?
RWRROB CRLIR0TR[OTTER 2
f. What is fair value of shares ?
TORRT, JeToN odeen IPO, 0TTeRd 2

Name four income sources of Banks.

1@

T T, W08 [RS SHODNIRY S9RD.
h.  Name four non operating expenses of Banks.
T Tow) WY DEDFTITRY S9R0.
i Define Bank as per Banking Regulation Act 1949.
W, 080MY NODOZ, 29 F0) 1949 T T30 9,083 08, IRRO.
Js Name any four operating expenses of Banks.
0,088 CIRPYTRTAR 4 IDFTED JWNIRY BeLd.
k. Name any two items appeared in schedule No. XI of Bank Balance Sheet.
109,085 FOTAOH & TGO ST TG F Faed X1 09, wids 20 @osnesy

WWOXD.
L. What is yield value of shares.
gedond eVZF [P, H0TTERd ?
SECTION - B
RN - W
Answer any THREE of the following. (3x5=15)

S NS 5T WD JIner wwgdd.
2. The following are the particulars relating to Vijayalaxmi Sugars Ltd. Dharwad.
Total Assets Rs. 4.50,000.
Out side liabilities Rs. 2,10.000.
15.000 Equity shares of Rs. 10 each fully paid Rs. 150,000

Proposed dividend at 20% on the above shares.

Calculate the Net Assets available to Equity shareholders.
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PEOPYF | FFT FARFS (V) TU[BET FOND 2 FSNT0S3.
23, Biéﬁ%b ge. 4.50,000.

BRONS waewmdne ga. 2.10,000.

10 8. R HEcd 15,000 IR, Sechrigo 89.1,50,000

83 B0 36D woES Ded 20 TR), TOPOTIR), TIIBTNG.
Q¥ SeTOTTON VLT TF BANY S5 IRRD.

From the following particulars of Shri Kadasiddeswar Co. Ltd. calculate the Goodwill
under simple average profit method.

Year ending 31st December Profit(Rs.)
2013 Rs. 45.000
2014 Rs. 30,000
2015 Rs. 36,000
2016 Rs. 33,000
2017 ' Rs. 36.000

It was decided to value the Goodwill of the company on the basis of 3 years
purchases of average profit of the past 5 years under simple average profit method.

83 INT WHENAT DTTTOWOT §¢ TBWITEIT () 232,083 QW3 3eSFRPO,[I) AOWRT,
psjepriio I SPIAIA] sdcsgé evTodReNd FOTRI&LEOWD.

IRFB 3RS 31@Fowo® ey (TR.)
2013 45,000
2014 30,000
2015 36,000
2016 33,000
2017 36,000

FEABEPT (R) W08 $eSFRPO,B/Y 5 BHET FTIIO TS FoRD JAFT DOeROD
[P, Bord RN, ATHFO WS HFIIVOT AFFOITNG.

[P.T.O.




36323/C230 4)

4.

A 00 O

From the following information of BDCC Bank Ltd prepare P&L A/c and calculate

statutory reserves as on 31-3-2016.
Particulars
Interest earned
Other incomes
Interest Expended
Operating expenses
P&L A/c (Balance on 1-4-2015) (Cr.)
Rebate on Bill discounted
Provision for doubtfull debts
Proposed dividend

Provision for taxation

Amount (Rs.)
24.,00,000
6.00,000
10.80,000
7.20,000
6.00,000
60,000
90,000
1.80.000
3.60.000

31-3-2016.3¢ Sspr o8 BDCC R,088 TRy B TR TTIRE[TTURODN %ﬁﬁud@

OV VO SFH80.
Qe (]
FATA eTa1ob)
W NYT
(=}
QBT E3THODND
W& dzshﬁe;b
NI DT aSzSon
Y ) TR e%ﬁum (1-4-2015)
Repne 0edT deiess
2oZo30B TOT BRI
3 g Q
ESYpLIciplapler

sort riert SRoOAD,

303 (3n.)
24,00,000
6.00,000
10,80,000
7,20,000
6,00,000
60,000
90,000
1,80,000
3,60,000
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5.

6.

Rs.
Authorised capital 54,00,000
Issued capital 65,00,000
Subscribed capital 32,40,000
3.00.000 Equity Shares @ Rs. 10 each 30,00,000
Calls unpaid by directors 1,800
Calls unpaid by others 1,800

Hid |

an.
©033 WormY 54,00,000
VEINBOIRT  WOBRDY 65,00,000
BOSFOINT WOTP 32,40,000
3,00,000 =os35s, e drp. 10 Bo3 30,00,000
QTEFTTC TORERTMNT WOBTF 1,800
23eBON[T TRREITINT WOBRWY 1,800

B WOBIY FOTIONT), DRWFAOTH DT ROTIENTIY DBRORD.

36323/C230

Show how the shares capital will appear in the B/s of Bennur and Co.Ltd. as per
verticle system of accounting.

z:’:ﬁrg{d W) 0.(J) ©EN [E,FoDY, wow DFCNY, aéeﬁ::wozﬁm@d@( B0ROND.

Name any 5 circumstances under which company is compulsory wound-up.

[P.T.O.
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SECTION - C
Qe - &
Answer any TWO of the following. (2x15=30)

& NS e SR cvZORD.

7. From the following information of Pooja Ltd. for the year ending 31st March, 2016,
Prepare B/s as on 31-3-2016 as prescribed by schedule VI of the company Act under
verticle form. '

Dr. Cr.
Share capital: 15,000 Equity shares of
Rs. 10 each - 1,50,00'0
50,000 Preference shares of Rs. 10 each - 5,00,000
Securities premium - 2,50,000
General Reserve - 5,62,500
Loss for the current Year - 150,000 | -
Bonds and Debentures - 3,00,000
Long term loans from Banks - 2,00,000
(secured on Building)
Other long term loans - 1,00,000
Short term borrowing (from others) - 150,000
Trade payable (short term) - 5,22,500
Other current liabilities - 85,000
Provision for Income tax - 3,25,000
Provision for Salaries and wages - 25,000
Building (After depreciation Rs. 195,000) 115,000 -
Furniture (After depn. Rs. 5,000) 75,000 -
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Capital work in progress (cost of constrution) 50,000 -
Investment in Govt. Securities (Non Current) 150,000 -
Investment in preference shares (Non current) 62,600 -
Closing stock f 12,00.,000 -
Loose tools 4.29,000 -
Trade receivable (short term) 6,02,400 -
Cash in Hand 1,72.500 -
Cash at Bank 1,63,500 -

31.70,000 31,70,000
Additional informations:

a) Authorised capital of the company consists of 20,000 equity shares of Rs. 10
each and 100,000 preference shares of Rs. 10 each.

b) Other current liabilities consists of income received in advance.

31-3-2016 S PP 30.(R)B B9 EeLs, Fnkdod ©rRoE ed 31-3-2016 T
s B8R, BeF J30es VI 8 F50 00150 Evelorloveliciensplel el

Dr. & o
oD WOTIY
15,000 momns, dedd dw. 10 o3 - 1,50,000
50,000 3,33, 3ed> dre. 10 Tod _ - 5,00.000
81,063 &, eQ0030 | - 2,50,000
RORRT; - 5,62.500
BT ST T 150,000 -
OB TD | - 3,00,000
DEFFRY O (FUWET aoed gieen, ©W) - 2.00,000
2308 VIR DETIFRD O - 100,000
&50%5@033 © (2368 IBOWOW) - 150,000

[P.T.O.
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B, BH0Y, TRWSTR, (SRBR) - 5,22,500
23T QTIW TOONTO - 85,000
Ciapleveliciely i -plevsletllevtyas - 3,25.000
SeST A[TY TN DAY - 25.000
38R (B39 3 Soed de. 3,90.000) 115,000 -
eBRETTTLNLD (B89 Sne 0 Tr.10.000) 75.000 -
WIBEIN0DYT Fo0DF WOTDY 50,000 -
AR, FedondQ, moozemed  (Non current) 150,000 -
m_)-a’?gj Jecondd noozeed  (Non current) 62.600 -
WOOE TVOTIREI 12,00,000 -
T BOTTEINT 4,29,000 -
TREEND (BRRIY) 6.02.400 -
I[N 1,72.500 -
239, 03T [N 1.63.500 -

31.70.000 31.70.000
233 WRWEND :

a) WRY, IRRT WO 20,000 Jedonizb TR.10 TOZ m[PT, JETONHL W2
100,000 2,83,0 Jeconsd de.10 T3 QoomD)-

b) ©wEIY, WONTHN CABNEY VDS JRHEMOTOIOTD TONESRTINT.

8. 'X' Co.Ltd. went into voluntary liquidation on 31-12-2016. The following are the
particulars provided by the company:

3000 Equity shares of Rs.100 each Rs.75 paid Rs. 2.,25.000
1500 Equity shares of Rs.100 each Rs.60 paid-up Rs. 90,000
Unsecured creditors Rs. 7,20.000
Secured creditors (security on plant) Rs.  3,00.000

Preferential creditors Rs. 60,000
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The liquidator revised the assets as under

Cash - 30,000
Stock - 1.80.000
Land & Building - 6.00.,000
Plant - 4.20.000

The liquidation expenses amounted to Rs. 4.200,

The liquidator is entitled to a commission at 3% on the assets realised (Excluding
cash) and at 2% on the amount paid to unsecured creditors.

Prepare the liquidators final statement of Accounts.

7208 31-12-2016 Tomd X' FOITACIW ::;ojao SN IRNTEH BRODT. TOTIOIN 3
PN maaoém‘am BN,

100 dn.we0 3,000 u%z’:éo Bedongd de.75 Romood=ensm. Rs. 2.25,000

100 de.tdes 1,500 Ss8s3 Beddrivo 0R.60 Fomoodmdnas. Rs. 90,000
$5,3 BRODTT WONDH Rs. 720,000

$33 B2R0DT WOR Rs.  3.00.000
BB WONT Rs. 60,000

DRNTIHTON S FENIS U’ggm"% WIRTS ara@-bu

[N - 30.000

TR - 1.80.000

Bado BB R - 6.00.000

TR0 - 4.20,000
TRRTIOTOED IRBT DWOF 8R.4.200 IBRTEHTON [N TRTDBTRX SANTER,
23,3P8 Fon, 03 BeI3 B¢ Fegmd 3% FOR mﬁw‘eiz Tort P, SodR), TWeeLTIT

TROTRTON ROTVTREAT RRBT =0eed 2% u:f% FORS' TRTWLIEH.

TSRTTHTOCD AR &R GTWL SCIRORD.

[P.T.O.
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9. From the following information prepare the P&L A/c of Suvarna Mahila Bank Ltd.
for the year ending 31-3-2017 and the necessary schedules.

Interest & discounts Rs. 3,45.000
Income on Investments Rs. 30,000
Interest on balance with RBI Rs. 15,000
Commission exchange & Brokerage Rs. 1,20,000
Profit on sale of investment Rs. 15,000
Interest on deposits Rs. 97,500
Interest on borrowings from RBI Rs. 22,500
Payment to & provision for employees Rs. 1,05.000
Rent, taxes & lightings Rs. 30,000
Printing & Stationery Rs. 22,500
Advertisement & Publicity Rs. 9,000
Depreciation on banks property Rs. 6.000
Directors fees & Allowances Expenses Rs. 18,000
Auditors fees & allowances Rs. 12,000
Law charges Rs. 7,500
Postage Telegrams & Telephones Rs. 3,000
Repairs & Maintenance Rs. 10,500
Insurance Rs. 1,500

Other information :

a)  Make a provision for income tax Rs. 10,000

b)  Provision for bad and doublfull debts Rs. 9.000

c) Provide for rebate on Bill discounted Rs. 6,000

d)  25% of the profit to be transferred to statutory reserves.

e)  The directors have proposed a dividend of Rs. 30,000 provide tax on dividend
at 15%
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Seamodd SRE 31-3-2017 § R0TY0DTNIT [REF BT T&TD 108 oY T[T
B B E ScdndH STE ATOOAT 3@, ORI ATERA0.

W Tonp AreB0DH dadnRcd Rs. 3.45,000
BRETCD HOT BSToD Rs. 30,000
RBI 393 203 g Rs. 15,000
B[S BRY BB AIRH Rs. 1,20,000
BRARECH BNoowIB Foed Gyl Rs. 15,000
Be3ed 0eOT VB, Rs. 97.500
ORIF 2,08 WUT 1B, Rs. 22,500
R-ele] PIFID Torie 5635§ éﬁ'@é.; >ED Rs. 1,05,000
8N, 301 Tone DeBT [, Rs. 30,000
S03 60 Horte BRSO Rs. 22,500
23056008 TP T,1390 Rs. 9,000
239,08 U?%Qb 0O AITY Rs. 6.000
QTeF BT e Rs. 18,000
dﬁéwcmeq%d 2,135 Rs. 12,000
TORRRD S02DF Rs. 7,500
023+ 5pex" @[3 93T Rs. 3,000
03eT TR JVFHEH Rs. 10,500
A Rs. 1,500

[P.T.O.
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10.

QBT BR&LEND :
a) sKood 3ormn SRR Rs. 10,000

b) HoZeIngs MmN IRORPI Rs. 9,000

(@]
~—
3

VRPN Fped B) dodnpod Rs. 6,000

™

d) PE Jesme 25 da-’% IpEST] wdz; a'aob%amaéﬁ WNFoVLIeBD.

¢) Te. 30,000 B ATBerTETD SLOOTFHOmD ;;’me&%moo’. ez 15 Q) ©I0TT
R0eed Sonza80.

The following particulars are available in respect of the business of the company.

i) Profit earned for the following years are as under.

2015 - Rs. 100,000
2016 - Rs. 120,000
2017 - Rs. 110,000

ii)  Normal rate of return is 10%
iii) Average capital employed in the business Rs. 600,000
iv)  Present value of an annuity of 1 rupee for 5 years at 10% is 3.78.

V) The profit included non recurring profits on an average basis of Rs. 10,000 per
year

You are requested to calculate the value of Goodwill of the company on the basis
of

a) 5 Years purchase of super profit.
b)  Annuity method of valuation of super profit

¢)  Capitalisation of super profit method.
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11.

2 3INT IPWICID 205D [,FF0E JoTIR ASOONTIT.

i) AT IS YT INT T3 FPNT083.

2015 - Rs. 100,000
2016 - Rs. 120,000
2017 - Rs. 110,000

i) RN, FéPoa o 10%

iii) sb,waadcﬁe'; BRBENAT RITRD womme¥ Rs. 6,00,000

iv) SNFRNTT WAFT P, de. 18 5 IRFReR Sesme 10 o3 3.78 QUdET.
V)  op®) O0%E CoyE ITIAO &0 @S0ed de. 10,000 O WERROBTOZT.
NED) aaémdcs eeér:@oﬁ@t £ FINS BTOR0T FOR SHLBOWD.

a) S5 SIRENY DDeOODH RRTT CoPE SHC0T Fed

b) PAFT SPOB/RTI wz:jaéoww.

C) RRTT RPT WOBROPEFTLD ﬁz:‘g;éoaood (Capitalisation of super profit)

d) se3rPYB[I F0edT FTY 0e3000T FOWD LRWI0ST T SRRBAITY, QTOA.

SECTION - D
onen - &3
CASE STUDY (Compulsory Question): (1x15=15)

%3000 eEoDT : TWOD BF
Calculate the fairvalue of shares of Rohit Ltd. from the followings.
Balance sheet as on 31-3-2016.

Capital and Liabilities

10% 8000 preference shares of Rs. 100 each - 8.00,000
20,000 equity shares of Rs. 100 each - 20,00.000
[P.T.O.
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Reserves and surplus

10% debentures

Current liabilities

Properties and Assets

Sundry Assests

Preliminary Expenses

Additional information

a)
b)
c)
d)
¢)

Normal Rate of return is 15%.
Average profit before tax Rs. 1,60,000
Rate of tax 30%.

Education cess on tax 3%

Transfer to Reserve is Rs. 80,000.

Comment on the same.

38.00,000

40,00,000

0O

600,000
400,000
200,000

40,00,000

33 FINS Tn&EoD SR Heg $58 FomR (J)od Seaone DR, [, Ford LBOWD.

©EeR @&F 31-3-2016.

WOBTY WBY) TReBNdTF:

8000 w37, Jeddnisb de. 100 T3 -

20,000 mmsﬁ Jedonso dr.100 Tod -

QB B wgd

10% =oo =g,ned

w9 BRBMOINGD

8.00,000
20,00,000
6,00,000
4,00,000
2,00,000
~40,00,000
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SANSO:
@

QST SAND - 38.00,000
TPTFLID S - 2.00,000
40,00,000

9338 RR&LEND :

a)
b)
c)
d)
e)

WRRT, WY ©0 Seswe 15% 008 [TBOT.

3on RRBew YUOH ITHRD ©yod Tr. 16,00,000.
3o BT ez 30% TOZ BTIRT.

35es 35 3% 301 BedDRT.

ReTAC QN IMeF oI wogd de. 80,000.




